Dék-62-11-19
,/ | - PAPER CODE - 6192 '

- (11" CLASS - 12019)
ATHEMATICS , GROUP SECOND ; TIME: 30 MINUTES , MARKS: 20
| OBJECTIVE
ITE: You hgve four choices for each objective type question as A , B, C and D . The choice which
you think is corcect , fill that cirele in froat of that question number. Use marker or pen to fill
the circles. Curting or filling two or more circles will result in zero mark in that question.
JESTION.NO. 1 :
(1) I Z=-3-4i Then |Z| is
A4 @®7 (@©1 D) 5
(2)  If a, bare the clements of a group G, then (ab)™' =
o) -1, -1 S |
wa'! @Y ©F O 2
{3y If A is a matrix of order 2x2 then |KA| =
(M) Klal B KA} (©KAP  (D)KA
4y If [_’-’2‘ _1] is singular matrix then A=~
A)2  (B)i 0 0 A -
(5)  Product of four 4™ roots of unity is

Ay By-i  (O)-1 D1
(6) If o, Barethe roots of 3x> —2x +4=0 the X+ =

w; ®: © m3
F

{7y  Partial fraction of

E‘Z;;E;:IF is of the form

(A) ;?t i mj ;zf__: +

M1

B
(ee1)?

(&) If ap3=2n-5 then 7% termis ; o
(A9 (B 15 (©11 ()13
{9)  Arithmetic mean between V2 and 3V2 is 0

A
(€) x=1 +¥_d'-_1. Hf (x+137 ¢ (x21)? ) 1 xre

B [H n Ax+D | C
ea

(A) V2 BVZ ©2 @OW?Z

(10) A fair coin is tossed twice then probability of getting tail both giffes

A1 B% ©O% O % o -
(15 IF "Ce="Cs then nwill be . ’
M2 ®6 (©8 (D) * :
(12)  The expansion of (3 — 5x)'? is valid only if
Ayl =3 (B) |x]<5 (0 x|< <3/5
(13}  Sum of exponents of 2 and b in every te a+b) is

(A6 M7 (©3 (D)12

{14)  In anti clock wise direction ot Gual to
(A} 20°  (B) 180° L, (D) 45°

(13) sin88-sind 0 = .
(A) 2sin6 O sin4 G (B)Qcos26sin60 (C)2cos66 sin28 (D) -2sin6Hcos2d
(16) The period of si i

in

©; OF
(17} Ifanan in standazd form then its vertex is at
(Ay(1,0 @) @O0 - ©0nn @) (1,1

(18)  For atriangle ABC with usual notations y =
Ww; B ©F O=
(19}  The value of sin™ (cos w6} is
W @2 L (©CF O
(20)  The solution éfmnxw-éirnrxe [0,7) is - D
(A){m2}  (B) (w6} (O (w3} (D) (w4}
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Do

11" CLASS - 12019 TIME : 2.30 HOURS
SUBJECTIVE MAREKS : 80
SECTION-I ' : :
,‘:ﬂﬁ';uw NO.2 Write short answers a_y_Elght (8) questions of the following 16
| Prove the following rule I— +H = a"::c L
2 |Sm:.phﬁ G.-9%(3,-2 )
3 | Express the complex number 1+j+3 in polar form
4 | Show that the statement p — (p v q) is a tautology
5 | Write inverse of the relation and also tell whether relation and its inverse is a function or
not {(x, )/ X’ +y =9, |x <3, |y <3)
6 |If a.b are elements of a group G , then show that (@b’ =b'a
r 7 | Find the inverse of the matrix : Iz' IJ
il be ca  ab ) ]
8 | Without expansion verify that f i— % ={
] b C
1y If the matrices A and B arc symmetric and AB = BA | show that AB is symuzetric
10 | Evaluate kl*w-w PR w} where w is comp‘ex cube root of unity
| 11 | Show that the rocts of the equation will be rational : px (p-qgix-—-q=0
12 Solve the equation by racmnz.al:on X - x=2 R i

[1

i Define a partial fraction

]
QUESTION NO.3 Write short answers any Fight (8) questions of the followi mg Q

{2 [ Resolve into partial fraction (x—f].{;-_l)‘
Write in mixed form Bl

4 | Find the nEXt two terms u:: ~1,2, 12-,";%1 4

(S |1 S;=n(2n- 1) , Find the series
6 | Tind the 5" term of GoP , 3, 6, 12
7 Find the G.M between ~ 2i and 8i
8 | Sum the infinite geometric series 4+ 2+/Z + 2+ +/2

(9 TFind n, if "'P, = 11.109 "‘

i Iﬂ Write the principles of Mathematical induction _‘

| 11 | Calculate by binom.i:_al theorem {7y al places '
12 1f % 5550 small , thar its squarte andd ers cneglci:!ed_,vac j—% =]. :'2—‘“ _"]

QUESTION NO. 4 Write short answers an questions of the following i8

1 | Prove that tan @ + cot § 2gascleé i
2 l Find x if tan® 45° — :
3 ! Define radian ]
4 | Prove that sin (4584 ) 775 (sinx + cosec)
5 | Prove that n o 1
6 | Ex 46" as sum or difference S ————
7 | Find pe
§ | The area trlangl:: is2437if a= 79 and ¢ = 97 then find angle [ y
9 | State law of tangents (any two) il
10[If a=7,b=3 ,c=5 Find . i
11 | Show that cos (sin'x) = v’Txf

112 ]

[

. Solve the ::-quahon sin ¥ = : ' |

l13

Soelve the tngonomet*-:c cquahnn tan @ =

Gl
[

'/') (P.T.0)



SECTION-I
Atlempt agy[Three_giesti.uns from this section - .- - 10 x3=30

‘ Q. 5-(A) l Prove that theset S={l,-1,i,-i} isan abelian group under muitiplication

(B) | A person invesls R 2000 at 4 % interest compounded annually. What total amount will |
| he gel after 5 year : I

. .\ ey

‘ l wy 1,1 .
1 0 6-(A} | Show that 1 x 1Y ganx-10

% o4 %1

1 % 1%
i {B) ! How many signals can be given by 6 - flags of different colours when any number of '
! flags can be used ata time . \
5. i e
| | l
| Q.7-(&) ! Find the tiree cube roots of uaity

F]

![ (B) | 17 x is so small that its cube and higher power can be neglected , '
| then show that \Jﬁ =[-%x* ixt
|

! X .
\ Q.8-(A) | Without caleutatar find the values of the mp_.nnorn-:m:; fui 1c.

|
| (B 1‘ Without using calculator , Prove that :  Sin 19° 'I. 71° Sin 11°=
! —

2

e ——— ——— —. __.——‘

| Q.9{A) | 1f the measures of the sides of a tijang % 10,21 .Find R,r,r.rpa0d ™ !
| 1
|\ (B) l Prove that tan” % % 4 8 % \
I |




